THRIOFEE 10 V5 —Ry hEZZ—T U 7— RE
TR—LR=T] Ry kAR BFILK - BIERE] TRETEHLVLLWK] [2DVT
14

ERDIZEVWERL B H
KEKERATHTEZEDIZEVWIBRLETS, GBRKBLEEEBIHVKTEBHELIEELY

N=550
5% i EESE EEEYTES EESE EEEES
1. L3 33 6. 0% N
2. '}‘LEXL’% 37 15. 8% L3 120 21. 8%
3. FEAERECHEL 302 54. 9% N
4 _BCHL 28 7335  BLEL B 2
/ > <> S = N <> <> =
TRECAEWD L TFREAERLEWNDEENT8. 2%HFHD ., BELS]. [DLELSIDEETE21. 8% TLT=,
B&hl, FRATATIZEVLWT. RILEWVWEEOEZIFINFEAERLELNTL=,
N\
EES %S
14 31 R =ZTE EXES
275 275 550
1. XL 5 T6] 5. 8% TI] 6. 2% 33| 6. 0%
2. DLRL 5 12] 15. 3% 15[ 16. 4% 87| 15. 8%
3. FEAERLEL 57| 57. 1% 145] 52. 1%  302| 54. 9%
4. RECALY 60| 21. 8% 68 24. 7% 128] 23.3%
m B mktt w2k
2.
3. [FEAERLAL
4. BEUAEL
0.(5% 10.‘0% 20.‘0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0% 90.0% 100.0%
B

1-41




EEEEEES

FK 20mRim| 20X | 30kt | 404K | 50%1E | 601K | /0Ll L
3 12]  69] 208 23 15 20
1. L5 070. 0% 070. 0% 6[8. 7% 12]5.38% 38[6. 5% 5[4.3% 2170. 0%
2. DLKC A T[33 35 2[16.7%] 10]14.5%] 39[18.8%] 16|13.0%] 18|15 7% 1]5. 0%
3. FEAERELALY 2166.7%  6]50.0% 34]49.3% 107]51.4% 76]61.8% 67]58.3% 10]50.0%
4 B 7L 0]0. 0% 4[333%] 19[27.5%] 50[24. 05| 23|18 74| 25[21.7%]  7]35.0%
i 20K 20 130 maoEt msot meomEit m 70 L
1. BL3
2. LLRELS
3. [FEAERELALY
4. BELAL
0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0% 90.0% 100.0%
EI&E




